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11a. Which calculation is correct? 11b. Which calculation is correct?

A.395=404-9 A.99=105-7

B.395+8=404 B.99 +6 =105

12a. Complete the calculations. 12b. Complete the calculations.
A 101 - 7 = A. 808 - 9 =
B. 308 - 9 = B. 102 - 8 =
C. 406 - 8 = C. 105 - 6 =
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Gredter De

9a.196 9b. 595

10a. 1 hundred, 9 tens, 6 ones (196) 10b. 9 tens, 3 ones (93)
1a.A 11b.8

12a. A. 94; B. 299; C. 398 12b. A. 799; B. 94; C. 99
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7a. Use four of these digit cards to write a | 7b. Use four of these digit cards to write a
subfraction sentence that equals 596. subfraction sentence that equals 397.
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8a. Jenna is subfracting 5 from a 3-digit
number that ends with 6.

The answer
end with

always

Is Jenna correct? Explain why.

8b. Freddie is subtracting an odd number
from an odd 3-digit number.

The answer always
be odd.

Is Freddie correct? Explain why.
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9a. Fill in the blanks using >, < or =. 9b. Fill in the blanks using >, < or =.

A. 295-6 291-9 298-7 | A. 972-6 970-4 974-8

B. 684-9 690-8 685-3 | B. 401-9 395-4 399-6

C. 806-4 800-1 799-4 | C. 709-6 700-2 710-9
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Greater Depth

7a.603-7 = 59

8a. No, subtracting 5 from a 3-digit
number ending in 6 results in a number
ending with 1 because 6 - 5 = 1. Various
calculations fo prove the answer are
possible. Examples include: 166 - 5 = 161,
16-5=111,126-5=121.

9a.A.>, < B.<, = C.>>

Greater Depth

7b.402-5 =397

8b. No, the answer will always be even.
Various calculations fo prove the answer
are possible. Examples include: 145 -1 =
144,145 -3 = 142,145 - 5 = 140.

9b.A.=, = B.> < C.>, <
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9. Use the partially completed number
line to help you answer 201 - 5.

9b. Use the partially completed number
line to help you answer 604 - 9.

T TTT1
200 201 202 203 204 205

% .

600 601 602 603 604 605

%

10a. Use Base 10 to calculate 203 - 7.

10b. Use Base 10 to calculate 102 - 9.
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